. Starter .
1) Solve
(1)
4x + 2y – z = 12




(2)
  x +  y  + z = 6




(3)
9x – 4y – 10z = 3
2) Describe geometrically what is happening in this situation.

3)  Prove that this situation is the only one possible.

4)  If equation (3) is rewritten as 6x + 3y – 1.5z = 5 

How would this change the situation? 

[image: image1.png]


[image: image2.png]


[image: image3.png]



[image: image4.png]



[image: image5.png]



[image: image6.png]









Merit
Given the set of equations:



(1)
5x + 10y + 15z = A



(2)
  x +  2y  +  3z  = 6



(3)
6x + 12y +  Bz  = C


What do you notice about the 3 equations?
What value(s) of A, B & C 




What value(s) of A, B & C

result in 2 parallel planes? 




result in 3 parallel planes?





What value(s) of A, B & C result 
in a plane of solutions?



Given the set of equations:



(1)
5x + 6y + 3z = D



(2)
 2x + 2y +  3z  = 6



(3)
 7x + 8y +  Ez  = F
What do you notice about the 3 equations?

What value(s) of D, E & F result 



What value(s) of D, E & F
in a line of solutions?






 result in a unique solution?



What value(s) of D, E & F result 
in 3 parallel lines of intersection?
























Sigma Ex10.03 page 195 










































































Try to eliminate one variable and get different equations 


Eg  2x+4z = 5


      2x + z = 3


      x + 5z = 3





Try to eliminate one variable and get three equations same


Eg  2x + 4z = 5


      2x + 4z = 5


      2x + 4z = 5








Try to eliminate one variable and get three equations similar


Eg  2x+4z = 5


      2x + 4z = 11


      2x + 4z = 9












































3Eqn, 3Variables








Try to eliminate one variable and get 0=4 for any combination








Try to eliminate one variable and get two equations similar


Eg  2x+4z = 5


      2x + 4z = 11


And    0 = 4














Try to eliminate one variable and get 0=0 for any combination
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